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1. BIFEIR

2. FFABRIFRIESZ I

1) #ohE



2) B %

3) B IF

4) & =

3. ERIRIFN=F=R

1)

b

~

L4N

NHsNO; —NH3;+HNO;-170.7 kJ
200 °C NHsNO; —0.5NH3+NO+2H,0+36.1 kJ
NH4NO3; —N,0+2 H,0+52.4 kJ
NH4NO3; —>N2+2H20+0.50,+126.4 kJ
200 °C



2) ERSIFTH

2A1+Fe O3 — A1,O3+2Fe+841 kJ

3) RMAYEERE

1 kg
1 kg

4. YEZSROS %

1) RIEHERM D 2

RDX PETN

2) RIERFIEMBIENAR

3000 °C

9200 kJ
4222KkJ



K.D LA

3) RIEFANERE

4) RERKMDE

—. BIREERMN
1. YEESRSE T

1 mol 1 kg

DDNP

HMX

C.H»O:Ny

H,O CO;
H,O CO; N

D.S



CO

CHONys a b

d

[c—(2a+0.5b)]x16

OB = i 1.1
OB=0Bim1+OBymy+ +OB.my 1.2
OB— g/g
16— g
M— g
OB 0B OB,—
mi m my——
* 1.1 BUBRIESNRESIEAERESNETE
/ g-g! / g-g!
TNT CsH2(NO2);CH3 -0.74 Al -0.89
RDX (CH2N-NO2)3 -0.216 Ci15sH22010 -1.38
Te CsH2H(NO2)sNCH4 -0.464 CisHss -3.46
HMX (CH2N-NO2)4 -0.216 C1oH180 -2.76
NG C3Hs5(ONO2)3 +0.035 CisHss -3.46
PETN C3Hs(ONO2)s -0.101 KNO; +0.396
AN NH4NO:; +0.2 C3.32H5.903.25No0.084 -1.014
CsHa(NO2): NON -0.58 NaNO; +0.47
NaNO2 +0.348 CicHs2 -3.42
1.1 NH4NOs
CoH4O3N>  M=80
OB - [3-(0+4/2)]x16 —02¢lg
80
1.2 2 11% 2




1.1 0.2 0.74 -1.38 1.2
OB=0B1m+OBymy+ +OB.m,
0B=0.2%X0.85-0.74x0.11-1.38xX0.04=+0.033 4 g/g

H» CO

2. 1B &
kJ/kg
1.2
x 12 JIMEBERIIELSNERIRE

/ g-cm> / kJ kg! / g-<m3 / kJ -kg!
0.85 3389.0 1.0 38493
1.50 4225.8 1.55 4 560.6
0.95 5313.7 / 80/20 0.9 4100.3
1.50 53974 / 80/20 1.30 4142.2
0.85 5690.2 / 40/60 1.55 4184.0
1.65 5690.2 1.60 6192.3

1) HEFRSHNETE

2) IIABRETTREEREERIATIAR




50%

CO> Hx0
3.8 B
3000 5000°C 2 000
2500 °C
4.t B
L/kg
1.3
*® 13 BHAEAERERSTHLES
/ L-kg! / L-kg!
716 875
908 2 924
750 870
v = 22.4n 13
M

Vo L/kg

n— moL

M— kg

1.3 C7H506N3 =——=2.5H,0+3.5CO+1.5N,+3.5C

n=2.5+3.5+1.5/7.5 M=227

- 10 -
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224x75

= =740 L/k
0227 g
5.1 £
MPa
p _ nRT np RT
V—a l1-ap
po R a—-
TR r—
0
p T—
6. MR
1.1
fo Ro
Do
h Ro Ry
_Rl
co
R
5]
Ri—R>
Ro—A>
Ar—A>
— C1 C1
L1 O hEHEREREREREE ,
3
14 C3 C2

An—An
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1.4
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1. 1R%)

2. BRIMRAVE

10~ cm

12 -



0—2 0.1 1.0cm

c—J c—J

— = D T

1.2 BERREETREE

3. BRIRHISEL

u =
K+
Pu= P
1
c—J =
e
c—J _
Pu K+1p0
1
C—J cy = D
K+1
D =,2(K*-1)Q,
2K
T, =—
TR+
T Oy K=3
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4

4. FZSRYIRSR R RIATIE

1) BSROGNIE

107 10-°s

2) AYIRIRHE

3) BERNE
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2. NFARIRRE

5 min 1.4

x 14 JIMESNIERS

/°C /°C

EL 330 300
2 186 230 290 310
3 171 179 230
2 180 188 195 200
3 184 189 190 295

300 150 151

0.05¢g
100% 100%

3. VEESRITLMEE

1) EERE
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